The functiont = f(.A) models the time, in minutes, for a chemical reaction to occur as a function of the amount A of catelyst used, measured in milliliters. What
are the units for f” (A) 7

minutes per milliliter x

milliliters per minutex

OXO,

inutes per milliliter par milliliter

X

millifiters per minute per minute
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The function @ defined above models the electric charge, measurad In coulombs, inside 2 lightbulb ¢ seconds after [t is turned on. Which of the following presents
the method for finding the instantaneous rate of change of the lightbulb's electric charge, in coulombs per second, attime ¢ = 47
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The function € gives the cost, in dollars, to produce a particular product, where C (z) Is the cost, In dollars, to produce 2 units of the product. The function M

defined by M (z) = C (z + 1) — C (z) aives the marginal cost, in dollare, to produce unit number & + 1. Which of the following gives the best estimate for the
marginal cost, in dollars, to produce the 57th unit of the product? ===
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An object moves along a straight line so that at any time t, for 0 < ¢ < 8, its position Is given by = (t) = 5 + 4t — t>. For what value of t s the object at rest?
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A particle traveling on the z-axis has position 2(£) at time £. The graph of the particle's velocity v () is shown above for 0 < ¢ <

expressions glves the total distance traveled by the particle over the time interval 0 < ( < 57
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5. Which of the following



A particle moves along the z-axis so that at any time t > Oits position is givenby z () = %(a — t) where a is a positive constant. For what values of £ is the

particle moving to the right? j
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The particle is moving to the rightonly if0 < £ < a

The particle is moving to the right only if @ < £ x\ [ A - M—")
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The particle is not moving to the right
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